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Story so far 1 Can use data to learn the systemmodel using leastsqm2 To achieve our goals using this model we need to
Make a plan for controls I i that achieve our goa

Presentfor 7 Understand how to reliably execute that plan interactively
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To doOB we need to achieve stability
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This way the
combinedimpact of the disturbances willbe bounded on us

Can use feedback control
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Zooming Focus o n 2 A is a 2 2 matrix

Suspect eigenvectorness of 5 is the problem

How can we check if our suspicion is true

Consider a general an A E E 5 6 SPE

What does it mean for I to not be an eigenvector
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I must be nonzero if I is not an eigenvector



Is 840 enough to let us place eigenvalues Jutty
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With this chase of conduits what is the new dynamics I
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Alternately If 15 AB is full rank thn can consul
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If we can ÉÉÉÉdback in a nice coordinates.tn
how do we choose it in our original one
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Ace

Generalize beyond 2 2 case

It turns out tht y AI is the stylethat genetic
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Whatdo we need Need to beable to move thestate
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If thisspate e n dimensional we could go wherever we want
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Is span 2 dimensind No

Is span 1 I
2 dimens 1 No

I sp C if 3 2 dim No
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Guessafruperty Once span stop growing it won't growagain

YÉ 5 is lineal dependent I A5 A's
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